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00 F(z)0ODOOO

d
L F(@) = /(@)

OU000O00OF(x)0 f(z)000D00O (primitive function) 00000 OO0 (indefinite integral) 0 0 0 O
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1 1
a _ a+1 _ —
(1)/1‘ dx—a+1x (a £ -1) (2)/;(1;10 log ||
(3) /cos xdr = sinx (4) /sinxdx = —coszx
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(5)/emdajze”3 (6)/azdx= l(jlgza
7) /ﬁdw = arcsinz (8) /H_%dx = arctanz
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dt
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(2) logz O (logz)'==0000(1)00000000000000
X

/x logxdr =
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/(2x> logxdxfgx long/gx ;d:z:fgx logxfzx
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/xQewdaﬁ =

/xQ(e’”)’dx = 2%e® — /(xz)'e’”dx = 2%e® — /2me”dw

22e® — 2/ ze®dr = z2e® — 2xe” + 26

(4) 00 1=(x))00OO0O0ODO0OO0O0ODDOUOOOO0ODOOOODOOOOO

godood 6.2
(1) 2% + 2% + 2

(5) ——
Va4 — x?

(13) x3e®

(17) arcsin x
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/logmdx:/(m)’logmdaz:xlogx—/x—dx:xlogx—m
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(2) e 4527 (3) e W) —

(6) sin % (7) 2(322 + 1) 8) ﬁ
(10) ze®® (11)zsinz (12) 2% cos
(14) 23 log = (15) (log z)? (16) arctan x
(18) e* sinx (19) e* cos x
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